Ymnoowcenue oonounena na mnozounen
Hpeoopaszyiime ¢ mHocou1€H npouseedenue:
1. 2a(3a+4)
a) 6a’ +8a; 8) 6a +8; 8) 6a +8a; 2) 6a’+4.

2. 4e (*-6¢-2)

a) 4c 2 24c - 8e; o) 4c +Dde” < 8c;

6)4c’-24c7 -8 ; 2) 4c -24¢° + 8c.

3. -8x (X +x-5)
a) -8x *-8x° +40;  6) -8x>-8x" +40x; 8) -8x “+8x° - 40x; 2 -8x -8 +40x.

4. (Tm’n—mn’- 3n%)(-5m’n®)
a) 35mn’+ S5min '’ +15m’n"? ; o) 35m’ n'% Swn " -15m’n!? ;

8) -35m° n'"+ w’n ' +15m’ n " ; 2) -35m’n’+ 5m’n '’ +15m’ n* .

5. Vnpocmume evipadsicenue: 6xy(3x+4 y)-Sx}' (2y-5)
a) -8y +24xy - 40x°; 6) 26x°y - 40x°;

8) 2x3y +24xy > +40x°; 2) ~8x3y +24xy - Mxy:.

6. Haiioume xkopens ypasnenusn.: 0,4x(5x-6)+7,2=2x (x+0,6)
a) 6; a) 0; 6) -2; 2 2.

7.33MEHMTB 3BE3}10HI{}J TAKHM OJHOYJICHOM, ‘{1'06[:1 06[3330]3&!10(:}: TOMIAECCTBO:
_ 2 3
(x-p) ()=x"y -xy

a)x’ y’; 0)xy: 8)x’y; 2)xy .



